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Fluency Practice

Question 1: Find the missing numbers

@ 2 ® 1 © 3 @ 5 10
3 6 5 20 4 12 7T
@ 15 ® 4 12 @& 3 ™ 7 14
5 25 21 10 50 8
® 3 _30 @ 9% ® 2 _ 10 @ 2
4 8 88 9 3 18
m 1 5 @M 5 @ 3 9 ® 7
20 6 18 8 12 36
Question 2: Find the missing numbers
@ 6 42 ® 9 63 @ 5 35 @ 7 _
7T 20 12 8 64
@ 4 _ 32 ® 3_ @7 _ 140 m 42
T2 4 52 25 15 105
m 11 88 k 13 m 9 8l

~ 108 25 375 144
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Intelligent Practice

Multiply these fractions so they have Multiply these fractions so they have

a denominator of 30 a denominator of 24
1 2
1) & 1) 3
1 2
2) m 2) 5
1 2
3) A 3) -
1 2
4) = 4) "
1 2
°) 3 °) 3
3
6) = 6) >
3 4
3 6
8) = 8) >
3 6
9) m 9) 3
3 10) 2
10) 15 )
11) 1
1) =
15
12) O
12) 2
150
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Fluency Practice
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Fluency Practice
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Fluency Practice
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Fluency Practice
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Fluency Practice
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Fluency Practice
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Fluency Practice

1)

Numerator

Denominator

1

3

'

v
3

_>
4)
Numerator Denominator
1 3
12
7)
Numerator Denominator

L3

'

21

28
70

10) _:[1_0]

2)
Numerator Denominator
2 |,| 5
v v
4 |,
3)
Numerator Denominator
2 || 3
v v
| 15
8)
Numerator Denominator
L9
v v
9 |,| 81
45 | ]
1) — =— ——
99 11

3)
Numerator Denominator
2 || 7
' v
6 |
6)
Numerator Denominator
4 |,| 8
v v
| 4
9)
Numerator ~ Denominator
S| 4
v v
32 |, | 16
) 18 3
12) —— = —
V72 T
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Fluency Practice

There are 8 fractions in this grid that are the same as:

1

—

Shade them. 2
N EN) IEPR P70 IRTO TN T
8 24 56 48 72 48 64
16 | 36 | 4 16 40 12 4
48 72 48 64 80 o6 48
8 | 16 | 44 12 12 4 12
40 80 88 64 40 24 56
4 16 12 12 32 12 4
24 32 12 24 64 64 24

There are 8 fractions in this grid that are the same as: _g_

Shade them. 5
2 | 2 | 6 20| 4 | 10] 8
9) 15 15 50 30 25 35
2 |6 |6 [aafse 2]
15 45 25 35 30 20 15
e [a e [ 6]z
45 35 30 45 35 40 12
J{_ _ji_ 2 2 22 4 2
15 35 20 25 55 30 30
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Fluency Practice

In each box, find pairs of numbers that are equal to each other.

Circle the number that is left over.

B C
ES 2 ES 8 2 3 X E) 12
4 10 2 32 8 q 10 4 24
11 E) El ES S 2 4 ES 11
12 6 12 3 q 18 [2) 2 110
ES s ES 2 2 3 a 2 E)
6 30 5 q 16 4 12 3 s
E F
4 12 s 2 4 30 se 41 21
7 14 7 5 21 36 72 70 28
so 15 12 1s s s e 7 7
70 35 21 27 6 q 15 q 10
E) 8 2 10 2 12 2 6 15
7 28 7 24 3 30 5 10 20
H |
q 5 8 1 7 7
4 12 a4 25 28 o P 7
28 15 24 10 4 2 2 3
8 q 7 35 18 5 1 1 1
Er > % 2 32 235 43
7 22 32 48 24 4 4 18 E)
28 56 40 8 8 1 2 4 2
K L
3 15 1 4 2] 8 -5 -7 5
12 4 2% 1 5 52 2 -14 -4
q 11 7 15 5 1 1 10
oz Z = 5 s 2 2 =
E 17 1 2 2 17 _2 1 -6
27 & 3(3) 25 ¥ 5 2 3
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Extension

1
Question 1: Write down 3 different fractions that are equivalent to 5

: . : : i 3
Question 2: Write down 3 different fractions that are equivalent to =
)

Question 3: Write down 3 different fractions that are equivalent to D

Question 4: Dave and Tom are discussing fractions.
Is either man correct?

. . 16
is equivalent to T;

| 20
— is equivalent fo—_,l
5 s

;
!

Dave Tom

.

Question 5:  Use the grid to explain why Z cannot be written as a fraction with a

denominator of 15.

Question 6: Macey has completed her maths homework.
Can you explain what she has done wrong?

(@ ) ©
16

35

a|w

(b)

6 (@)

15

16
40

o1l
1]
o||nv |
o
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Purposeful Practice

g)

k)

Halfway
Fractions

Find the fraction that is halfway between each pair of fractions.

2
What fraction is exactly halfway between P & =7

How can we use equivalent fractions to
find the halfway fractions for these pairs?

3 5
— L 4 —
8 8
1 7
—_ @ —_
13 13
1 7
— @ —
3 9
3 3
— @ N
4 20
1 2
— @ —
5 5
1 1
— @ —
4 3
1 3
— @ —
5 4

2
5

b)

d)

f)

h)

j)

1

11
15

1
4

NN wil N

NG

Ul N

4
5

4
5

Ul

N w
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Fluency Practice

Question 1: Simplify fully
@ 2 ®) 6 © 6 @ 5 (e)
4 9 8 15

® 10 ®Wo9g ® 8§ O® 10 ®W 15 O g
15 15 12 14 35 21

(m) 1 Q ™ 1 6 (o) 9 (p) 20 @ g ) 300
2 20 24 30 28 500
Question 2: Cancel down each fraction to its simplest form

@14 ® 8§ ©@ I8 @75 @ 24 ® g

35 64 24 100 80 42
(g) (h) (i) () (k) M

36 18 70 49 22 18

66 45 120 56 110 72
(m) 60 (n) 45 (o) 40 (p) 64 (@) ’5 (r) 48

140 135 360 100 35 36
Question 3: Simplify fully

@145 ® 190 © 200 @ 230 ©@ 54 ©@ 96
225 570 288 495 333 123
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Intelligent Practice

Simplify (if possible)

1) =
2) =
3) =
4) =
5) —
6) =
7) 1—2
8)
9) =
10) 22
11) 22
12) 22

13) g
14) 2
15) 1?5
16) %
17) ?
18) %
19) 1—12

20) =

21) 32
22) 6=

612
23) 1_8

603
24) Ts
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Extension

2

Question 1: Which fractions below are equivalentto — ?

6 8 9 10
8 12 12 15

4
6

1
Question 2: James says that 3 of the grid is shaded

4
Cara says D of the grid is shaded.

Explain how they are both correct.

65
Question 3: Giventhat5 x 13 =65 and 7 x 13 =91 simplify fully 9—1

Question 4: Freddy has 40 cupcakes.
20 of the cupcakes are chocolate.
10 of the cupcakes are lemon.
8 of the cupcakes are strawberry.
The rest of the cupcakes of vanilla.
(a) What fraction of the cupcakes are chocolate? @
Give the fraction in its simplest form.

(b) What fraction of the cupcakes are lemon?
Give the fraction in its simplest form.

(c) What fraction of the cupcakes are strawberry?
Give the fraction in its simplest form.

(d) What fraction of the cupcakes are vanilla?
Give the fraction in its simplest form.

Question 5: There are 200 students in a primary school.
80 students wear glasses.
What fraction of the students wear glasses?
Give the fraction in its simplest form.

Question 6: Sarah has £240 and she gives her mum £80.
What fraction of the money does Sarah have left?
Give the fraction in its simplest form.
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More-Same-Less — Simplifying Fractions
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Problem Solving
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Fluency Practice
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Fluency Practice
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

Question 7:

Question 8:

Question 9:

There are 30 students in a class.

20 students have brown hair.

What fraction of the class have brown hair?
Give your answer in its simplest form.

A bag contains red and white sweets.

There are 12 red sweets and 8 white sweets.
What fraction of the sweets are white?

Give your answer in its simplest form.

Over one day, Rebecca spends 6 hours sleeping.
What fraction of the day is Rebecca awake?
Give your answer in its simplest form.

John has 12 pieces of card, each with a letter written on it.

EREECDDWATDH(

(a) What fraction of the letters are the letter T?

(b) What fraction of the letters are the letter A?

(c) What fraction of the letters are vowels?

(d) What fraction of the letters are not the letter T?

Jemima receives £5 pocket money.
She spends £1.75 on a magazine and 80p on a drink.

(a) What fraction of the pocket money has she spent?
(b) What fraction of the pocket money does Jemima have left?

In a town in Cornwall, it rained for 18 days during April.
What fraction of the month did it rain?

Barry is saving money towards a new motorbike that costs £4,000.

Each month, he saves £5 more than the previous month.

In January he saves £60.

Over the first year of saving money, what fraction of the cost has he saved?

Exactly _ of the
students in the class
wear glasses.

In Victoria’s class, there are 30 students.
Explain why Victoria must be wrong.

Nigel has completed his homework. {
Can you spot any mistakes? ‘

In a bag there are 80 beads.

There are 35 yellow beads. 35 + 1 7 - 5 2
There are 17 red beads.

The rest of the beads are white. 80 — 52 — 3 8
Work out what fraction of the beads are white. 38 19

Give your answer in its simplest form. =

80 40

Page 40




Maths Venns
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Maths Venns
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Fluency Practice
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Intelligent Practice

Convert the following improper fractions into mixed numbers:

7
1) <
2) 2
9
3) 2
18
4) =
36
5) =
36
6) =
36
7) 2
37
8) =
37
9) =

Page 46




Fluency Practice
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Intelligent Practice

Convert the following mixed numbers into improper fractions:
1) 12
5

2) 2
3) 3=
4) 32
5) 3
6) 3—
7) 32

8) 4
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Match up the improper fractions and mixed numbers.

Ll | [ | ] e2
4 3 1 3
7 11 7 9
4 3 3 1

Arrange these improper fractions in order, starting with the smallest.

23 37 11
47 77 2
3 2
Write down a mixed number between 3 — and 3 -
)

Gregory feeds his cat g of a can of cat food each day.
'.)

Work out how many cans of cat food are eaten each fortnight.

Give your answer as a mixed number.

13 9 21 5 2

Using the cards, create an improper fraction that is:

(a) between 1 and 2 (b) between 2 and 3
(c) between 4 and 5 (d) between 5 and 10
(e) greater than 10
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Intelligent Practice

3+3_ s
5 "5 T
3+1— +

s "5 T
3 1

5 5
3 1

5 10
3 3

5 10
3 3

5 25 ~
3 3

10 25
3 3

25 10
3 3

25 20
3 3

25 4
3 3

5 4
3 3

6 4
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Fluency Practice

Question 1: Work out the following additions and subtractions.
Give your answers as simplified fractions.

@ 24+ ®» 2+1 o 1il 0 9@
5 2 7 2 3 2
8 | 2 | 3 2

©@ °_1 ® 41 @ Z4+Z
9 3 315 07's3

m -1 o 3.2 w 3.3 o
15 5 4 5 10 8
11 | 5 | 3 |

m 1 1 mn 5 1 o 3. 1 @
56 TR 473

@ 7,2 o 8 3 @ 11 1T @
20+5 9 5 18+6

w 4+, m 2.2 w DBl g
15 12 3 16 30 8

Question 2: Work out the following additions.
Give your answers as simplified fractions.
If necessary, give any answers as mixed numbers.

3 1 5 N 2 l 1
(a) Z+5 (b) 7t3 () O 3 (d)
19 4 5 13 5 9
y 22 2,22 — 4+ — (h
(e 20 + 5 (f) 5t 13 (g) 2 10 (h)
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Fluency Practice

Simplify your answers where possible.

5 4
(a)E‘FE

7 3
(b)1_5+1_5

()23 (d) = ——
©3~5 @535

(a)l_|_3_|_i
20 5 10

7 1 2
(5+3%73

3 1 1
Blg+ats

43 1 7

(D575 20

Page 58




Intelligent Practice

Calculate:
1) 42
2) =+
3) 42
4) 242
5) -+
6) >+2
7) 42
8 ts
9 Gt3
10) =+

SE
13-
S
022
923
923
32
3-2
33
023
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Fluency Practice
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Problem Solving
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Problem Solving

Each square is the sum of the two squares below.

You cannot use zero in any of the squares.

(1) @

1 1 1 1 1 1
2 3 4 3 6 8
@® @
1 1 1 1 5
5 10 | 4 4 16
©) ©®)
1 1 2 1
2 4 3 6

Page 65




Problem Solving

oo | W
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11
14

2| w

A w

Page 66




Problem Solving

(12)

(@) Complete this pyramid

1 1 1
a b c
(b) Can you use the pyramid above to help you
complete this pyramid, without doing any more
fraction additions?
1 1 1
4 5 3
(c) Investigate the following pair of pyramids.
m n P 3 4 2
a b c 4 5 3
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Ition

More-Same-Less — Fraction Add
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More-Same-Less — Fraction Subtraction
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Problem Solving
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Problem Solving

where can you place the digits2,3,4 and 5
(all used, once only)

to make the result of the fraction sum

(i) as large as possible

(ii) as small as possible

-+

for another set of four consecutive digits?

where can you place the digits 2,3 ,4 and 5
(all used, once only)

to make the result of the fraction sum

(i) as large as possible

(i) as small as possible

for another set of four consecutive digits?
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Fluency Practice

£ L
Nm () "
6 ¢
— @) =1
NN |
¢ ¢
— | J — 1
¢ k) [

+
~loy ANy oo |

p—

N

o)

Ol

¢
-7+ —¢
- (1)

£
_

£
C

'SI9qUINU PaXIW Se SIamSUe Aue 9AIS ‘A1essadau J|
'suonoey) payrduwis se SIamsue InoA A1)
"SUOIDBIINS PUB SUORIPPE SUIMO[[0] 943 INO HI0M

I
C

[+—C7 (3

|

+T ©)

€ uonsany

Page 72



Fluency Practice

Simplify your answers where possible.

@it wi-k
(9153 OF

Convert into improper fractions:

(a) 2% (b) 3% (©) 5%
(d) 4= (&) 7= () 27
Convert into mixed numbers:

@ = ® 2 © =
@ = @ = O =

Calculate, giving your answers in their
simplest form:

3 2 6 1
(a) 1E+g (b) 2;—1;
2 1 1 5
(C) SE—ZE (d) 4z+1g

3 1 2 4
(e) 2;+3Z (f) 5;-1;

2
Milly’s living room has an area of SE m?
and her dining kitchen has an area of
3
4= m?. What is the total area of these

two rooms?
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Intelligent Practice

Calculate:

1)

2)

3)

4)

5)

6)

7)

8)

9)

12+1=
2 3
1241~
2 4
1 1
1E+ 15
1 1
25+2§
2-+1=
7 3
141
2 3
141
2 4
1,1
2 4

,1_ o1
4 2

10) 3-—22
5 2
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

2
In a car park, 3 of the cars are red.

é of the cars are blue.

What fraction of the cars are red or blue?

This week Harry spent % of his pocket money on a ticket for a football match.
He also spent % of his pocket money on a scarf at the match.

(a) What fraction of his pocket money has Harry spent?

(b) What fraction of his pocket money does Harry have left?

On an airplane, the passengers may have chicken, vegetable or tomato soup.
Half of the passengers choose chicken soup

A third of the passengers choose tomato soup.

(a) What fraction of the passengers choose vegetable soup?

There are 240 passengers on the airplane.

(b) How many passengers choose vegetable soup?

Patrick has a bag of sugar that contains % kg
He uses % kg of sugar to make a cake.

How much sugar does Patrick have left?

1 1 2
Workout — 4+ — 4+ =
6 2

9
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Extension

Question 6:

Question 7:

Question 8:

Question 9:

Question 10:

Question 11:

7
Jasmine has a bottle that contains 0 litre of orange juice.
|
She pours out some orange juice and now has 1 litre left.

How much orange juice did Jasmine pour out?

In school, pupils study one language.
They choose either French, Spanish or Italian.

3 S
30 of the pupils study Italian and 3 of the pupils study French

What fraction of the pupils study Spanish?

Shown below is a “magic square”
Each column, row and diagonal has the same total.
Work out the missing fractions.

! 3
10 10
9
20
1 3

5

t
=

9
Lenny says = - 2 = —

1" 3 14
Explain what he has done incorrectly and work out the correct answer.

B

1 = km

Work out the perimeter of this rectangle. <

= km

4
The distance from Newtown to Milton is 7 § miles.

Milton
2 /—\/

The distance from Milton to Redvilleis 2 — miles /_xlledvme

5 Newtown

Work out the distance from Newtown to Redville.
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Problem Solving
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Problem Solving
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Problem Solving

Fill in the missing fractions in these magic squares.

In each square the total along every column, every row and both diagonals is the same.

Different squares have different totals. Write all the fractions in their simplest forms.

1
2
4
15
1 1
5 3
3
15
3
5 4
15
5
1 | ¢
7
9
5
; 6
15
1
3 1
7 17

1 1 1
10 4 25
A3
100

5
2 1
63 43 ]
5
1
62

11
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Fluency Practice

Question 1: Work out each of the following multiplications.
Give each answer in its simplest form.

(a)lxl (b)lx3 (c)lx3 (d)lxl
275 27 4 475 373
@5 1 (f) ixl ® 2 1 ®ms 1
6 2 47 4 377 8 3
m 21 m 1.3 @3 1 @2 1
3572 3773 0 "2 5% %
m) 2 3 m S 1 @7_ 2 (@6 2
=X — =X — X — =X =
77 4 7710 1273 773
(q)6X2 (r) 3x5 (S)6x3 (t)3x11
779 10" 6 15" 4 5715
— X — — X = — X = — X —
20 " 1 30 3 25 8 9" 16

Page 85




Intelligent Practice

Calculate:
1) - X L
10
2) Ix =
3 10
3 10
4) i X E
3 10
5) 2z
3
3 1
7) i X E
3 1
8) 23
3 4
9) =X 2
2

10)§><

11) 2 x
3
12) 2 x 2
3 3
13)3><
3
14) 2 x =
3
15) 2 x ——
7

2 37

16) — X —
37 100
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More-Same-Less — Fraction Multiplication
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Problem Solving
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to ‘h’ must be the digits 2 to 9

used once only
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Fluency Practice
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Fluency Practice
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Intelligent Practice

Calculate:
1) 15 x = 10)41><1i
2 " 4 5 5
2) Ix1t 11) 42 x12
4 2 5 7
3) 2x12 12) 41 x 2%
4 2 5 7
4) 23 x 2
4
5) 2= X =
1 4
6) ZEXE
7) 21 x 2
37 5
1 4
8) 4§XE
1 4
9) 4§X1E
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Problem Solving
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Intelligent Practice

Calculate:
2 3

1) = X~
9 4

2 3

2) =X =
9 8

4 3

3) 5 X%
4 3
4) — X—
27 16

9
5) — X—
27 16

9
6) — X—
27 16
8 15
7) — X—
27 16
16 15
8) — X—
27 16
27 16
9) — ><15

3

10) 3= X
8

11) 33
8

12) 33
8

16
15

1

X 1—

15

2

X 1—

30

Page 99
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

Question 7:

Question 8:

Work out 4 1 7
—X1=-Xx=
5 2 8
Work out the missing number ) 7 2
15 3
Find the area of this rectangle.
Include suitable units. 9 X
— cm
10
|
— cm
4

Alexis has a pet dog, Maxi.

Each day, Maxi eats % of a can of dog food.

Alexis is buying dog food for one week.

How many cans of dog food should Alexis buy?

Kelly spends % of her savings on driving lessons.

Kelly then spends % of her remaining savings on a new car.

What fraction of her savings has Kelly spent?
Work out 2
5 +(3)
10 y
3 1
A wall measures 3 Z mby 4—m

Each can of paint cover 2.5m? and costs £5.50

Work out the cost of painting the wall.

Callum has completed his maths homework.
Can you spot any mistakes?

Work out Work out
11 3 |
A X — —
3" 6 Tk
& 1 13 ” 5 O
18 9 {049 ==9()
15
60 —
20
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Fluency Practice
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Intelligent Practice

Calculate:

)

0
5 (22)
6) |;
7) 19—6
8) |-
9) |
10) |
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Fluency Practice
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Fluency Practice
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Extension

2. Write down the multiplicative inverse of each number:

1. Fill in the blanks:

© -l m o N Ll\n "0
I . = w5 =) =) o
RS ~ S S G 8, & x <
on
o™ o~ | m - |11 N ™ <+ ]~ ol N Hlm i |
Q! Q S AN N S g < ~ ~
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Fluency Practice
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Intelligent Practice

Calculate:
4 3
) Lal
4 5
4 8
4 8
1._
5) 2+
4 6
6 4
6 4
g 6.1
6 4

10) §+%
11)§+—
12) 2+
13) §+§
14) =+
15) %+§
16) %+§
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Ivision

More-Same-Less — Fraction D
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Fluency Practice
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Intelligent Practice

Calculate:
1) §+3
2) §+3
3) §+3
4) %+3
5) =+3
6) —=+3
7) — =30
8) =-+30
9) ==+15
10)%?%—15

11) §+ 15

Calculate:
1) 3+§
2) 3+=
3) 3+2
4) 3 -+
5) 3+-=
6) 3+—
7) 30+ =
8) 30-+-
9) 15-—+-
10) 15+%

11) 15 + 2
6
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Fluency Practice
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Intelligent Practice

Calculate:
1) 2+22 9) —2+22
3 5 5 4
2) 12+2: 10) 2+ -2+
3 5 5 15
2. 51 %, 54
3) 25+ 2 11) =22+ -2
2, .1 9% . o8
4) 22+1 12) —22+—3=
5) 2+22 13) 2+ 22
5 3 7 7
6) 32+2= 14) 22+ 22
5 3 7 7
7) 32+31 15) —42+ 22
5 3 7 7
2, o2 4%, _42
8) =+3- 16) —4>+—12
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Fluency Practice
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Extension

Question 1:

Question 2:

@ 4

Question 3:

Question 4:

Question 5:

Question 6:

Work out the missing number i

The

3
4

Work out

301 )

James shares 3 of a cake between 6 people.

What fraction of the cake do they each receive?

John has 12 cans of dog food. 2,
He has two dogs and he gives each dog 3 of a can of dog food each day.

Does he have enough dog food to last one week?

T
Alisha has § litres of lemonade.

1

She is pouring glasses that each contain 7 litres.

How many full glasses can she pour?

Helen is cutting lengths of string from a roll that is 9 = metres long.

3
]
Each length of string is 9 metres long.

How many lengths of string can Helen cut from the roll?
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Extension

Question 7: Shown is a rectangle.
Find the value of x

X

Area = 20cm?

(§)

Question 8: Lee has completed his homework.

Can you spot any mistakes?

Work out

2 . 8

3 11
Give your answer as a fraction in its simplest form.
2 8

_X_
3 l

16

33

Work out

—Ccm
6

4 41

Give your answer as a mixed number.

[1

S
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Problem Solving
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Fraction Addition

(show your steps)

practice makes perfect: fraction addition
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Ition

Fraction Add
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Fraction Subtraction

(show your steps)

practice makes perfect: fraction subtraction

IR ol
| |
ol 2l
R _ (:-: ......... ::.-‘.--' .
© o o 8 oo [T |
° ®© I I I
£
;E <|w o|< .::co||.o
‘—lg ‘_Ig 2‘ E ----------------- IR
<|w ©|S [ -g
& S o
uMop |9oued
[R |~ @
I c
! .9
2=
-2 < [e ®
=
= g L B
£ [ I [ I
o o o IS S
£
|8 w|m 5 [ I [ |
| | ; o|< o)< o|< o|<
~~ —~
) o 3
o|w 3R
| |
SE ol
—~
N co
oo <|w 0|2 ©o|~
| | | |
—|w <|w 3 o« w|w© = ~|oo
| I X~
S
|2 ©o|~ s
= < o

Page 139




Fraction Subtraction
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Multiplying Fractions

(show your steps)

practice makes perfect: fraction multiplication
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Multiplying Fractions
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Dividing Fractions
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Dividing Fractions

S)Jom a|nl 8y} jey) }sa)

isynsal
ay} ul uisned ay) si jeym

¢suonsanb asay)
1o} uisyped ay) si yeym

¢ I (g
1z " 0z
g8 . L
7 5 (p)
bW (o)
L7 o
oL . 6
5 5 (a)
9.5 (e
S " ¥

() ajna jessuab (1Nl

S)Jom 8|ni ay) jey) 1sa)

;synsal
3y} ul uieped ay) sl jeym

isuonsanb asay)
1o} uieyed 8y} sI yeym

R
G

(1) ajna1 jesouab (Il

JInsal ayj ulejdxs 0} Al

isynsal
ay} ul uiened ay) si jeym

¢suonsanb asay)
1o} uisyped 8y} sI Jeym

2.0
bt o
Rz
A

(1) anu jesauab (I

saljiwe) UOISIAIP uoljoely :3dauad sayew asnoeid

Page 144



Fluency Practice
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Fluency Practice

Simplify your answers where possible.

Calculate
11 1.2
(a)gxz (b)gx;
1 2 3. 2
(C)EX; (d)zxg
Calculate
1 2
(a)EXZ (b)HX4
3 5
(C)4XE (d)3><§
Calculate
2.1 8.2
(@) 3 +3 (Bd)35+5
1.6 3.8
(©7+7 (d)7+5
Calculate
3 . 2.
(a)ng (b)3 =4
.1 =3
(c)472 (d) 3 = S

Calculate, giving your answers in their
simplest form:

2 1 3 5
(a) 1;)(25 (b) 2;)(15
1 2 1 3
() 3EXE (d) 21)(35

1.41 1.1
(e) 5—12 () 24.2

: 5.2
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Fluency Practice

5
(a) Showthats+— ==
4 16 5
(b) Show that = —2 =L
24 8 12
5
(c) Show that > + — = 1 —
8 12 14
(d) Showthat>+2=1%
4 5 20
(a) Show that 12+ 1= =1-
2 4 5
1 19
(b) Showthat2-+3-=—
4 2 14
5
(c) Show that 22+ 1= = 2=
8 6 4
(d) Showthat31x23=9l
2 3 3
5 5
(e) Show that 42+ 32 =1
3 9 16
(a) Showthat>+1=21
9 6 18
5
(b) Showthat-—2=-
8 6 24
2 3 5
(c) Showthatl1l-4+2-=4—
3 4 12
2
(d) Showthat5-—12=3_
4 3 12
5
(e) Showthat73—43=2_
2 3 6
5
(a) Show that 22 X 2 X — =12
3767 10
2 1 1
(b) Showthat2-—1-=+1-=
3 4 8
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Fluency Practice
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Fluency Practice

Simplify your answers where possible.

() £ X2 (b) = x 4

() 4x= (d)3x =

@33 ©)3%3

©3%5 OFEE

(a) 2 +2 (b)=+4

() 4+~ (d) 3+
1.2 5 .1

375 R

@5x5x5  ®Fxgxg

@3%5+ 5 D5X575

(a) A rectangle has an area of g cm?, If

the width is % cm, calculate the length.

(b) A box is % cm long, %cm wide, and %
cm high. Calculate the volume of the

box.
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Fluency Practice

Convert into improper fractions:

(@) 25 (b) 3> (o) 5=
(d) 45 () 7= (22

Convert into mixed numbers:
(a) 2 b £ ( Z

4

@ = (@ Z O =

9

Calculate, giving your answers in their
simplest form:

(a) 12x2: (b) 23x12
(©) 3;x: (d) 27x3>
(e) <+1; (f) 27+

2 3 5 2

Calculate, giving your answers in their
simplest form:

(a) 13+ (b) 22+2-
(c) 52-23 (d) 4;-2
(e) 22+3; (f) 52-12
(9) 25:+; (h) 62-22
(i)  55;-43 (G) 4s+2¢

A machine takes 22 minutes to make a

microchip. How long will it take to produce
20 microchips?

Calculate the area and perimeter of a
rectangle of length 4% cm and width 2% cm.
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Operations with Fractions

Start in the middle and work your way around the spiral, finding your
answers at the bottom and crossing them off as you go.

2
x 2 “% Tz simplify 9
mplif e
simplify I 5
simplify x5
— l—
X % X % x 2 =4
start g
1 —
5 + =
2 N 5
1 -x 2
1z s IX 5
== simplify X
4 s
-2
2
— > —> > »
z d z X
+ > square + -
Jumbled answers
2 13
6 1 6 12 1 36 2 12
1B 2 1 9 12 3 15
2 1
3 5 5
2 5 4 6 % % 212 g 4 5 10 &
% > 5 5 5 5 g 25

ner AMAtbaPAAd A
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Fluency Practice

1 ] 1
LT L 2. 7+ 4 X3
3.5 5+3 4. 3of(E+3)
o i
52:1-2 6.3 +(3-%
S A4\ .
2.13-4+1 8. (12-5)+3
9. 23-5% X175 10.55-23 %13
M. 15+% of (2+3) 12.15+27
l1arlecal 46
13.8% + 51 x 31 Si o
15.13 x11 x 24 =
2 3
6—-3—2- 16-1131'(5“3'*‘
S 1. 2 7
S .11
Y 33:11
3 48
20. 1 4+ 1
19. 3 of (55 - 33) T
1 1
(1ﬁ +2%)7T‘§‘% 5 o 335
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Fluency Practice

(a) Becky eats g of an apple pie and Joe

eats é of the same pie. What fraction of
the apple pie has been eaten?

(b) Boris spends % of his salary on rent
and é on bills. What fraction of his salary
has he spent on rent and bills?

(c) A fuel tank is % full. Bill drives to York
and uses % of a tank of fuel. What

fraction of fuel remains in the tank?

(a) In a class, % of students are girls. Of
these girls, g wear glasses. What fraction
of the class are girls who wear glasses?
(b) Jorge has Z kg of pastry. Each pie
takes % kg of pastry. How many pies can

Jorge make with the pastry he has?

(@) Katy eats ; of a pizza and then Yusuf

eats i of the same pizza. What fraction of
pizza is still uneaten?

(b) Henrik spendsg of his allowance on
snacks and % of his allowance on books.

What fraction of his allowance does he
have left to spend?

(a) In a theatre, 70% of people are adults.
The rest are children. Of these children g
are girls. What fraction of all the people
at the theatre are boys?

(b) At a gym all members choose either
treadmill, weights or bike. 35% choose
bike and ; choose weights. What fraction

of gym members have chosen treadmill?
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Fluency Practice

Question 1: Work out each of the following

(@) % of 10 (b) % of 18 © Lo @ % of 24
9

(e) % of 27 () % of160 (8 % of 80 (h) % of 49

o1 o1 1 1

(M 7 of9 0 = of 65 (k) = of 72 0 — of 132

Question 2: Work out each of the following

@ 2 ® 7 © 2 @ 3

3 of 15 0 of 20 3 of 30 7 of 32
(e) 3 ) 2 (g 3 (h) 3

— of 4 — of 2 — of — of 12

5 of 45 T of 28 3 of 88 0 o 0
M 5 0 13 kK 2 m 4

= = of £, Sl

9 of 63 20 of 60 - of 91 5 of 120

Question 3: Work out each of the following.
Include suitable units.

1 2
@ 3 of £21 (b) % of 100kg (©) 3 of 27em (@ % of 32 seconds
2 5 9
© 2 otgomiles @ 2 of 150 % of 240ml (= of 310 students
. . 1
M % of a day () % of 1km (k) ; of 2 weeks () 500 of Im

Question 4: Work out each of the following.

(@) 1—30 of 32 miles (b) % of 9kg () of 8 litres () g of £7

(e) % of 50em D L of4031km @ % of 57 M % of 211km

ot =

Question 5:  Work out the largest of each of the following pairs.

1 1 1 2 2 3
(a) 3 of 21 or 5 of 12 (b) 5 of 30 or 3 of 9 (© 5 of 65 or 1 of 32

1 3 3 1
(d) 5 of 2m or 1 of 60cm (e) 3 of a day or ) of 85 hours

® or 2 @ 3 or 2
R of 480 3 of 453 0 of 395 7 of 420
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Intelligent Practice

Calculate:
1) §0f60
2) §0f30
3) gof30
4) 2—500f30
5) gof3o
6) gof3oo
2
7) =of 300
8) §0f3
9) gofz
10)§of5
11)§of5

12) %of%
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

Question 7:

James has 20 sweets.
% of the sweets are red.

How many sweets are red?

In a class, there are 24 students.

1

g of the students wear glasses.

How many students wear glasses?

There are 40 apples in a crate.

3
5 ofthe apples are bad. ‘b‘b

How many good apples are there? ‘b

3
On Wednesday, James slept for 3 of the day

(a) How many hours did James spend sleeping?
(b) For how many hours was James awake?

(c) What fraction of the day was James awake?
Declan won £6000 in a competition.

¢

2
He invests — of the money.
Q)

How much money did Declan invest?

Katie has £1200.
1
She gives 3 of the money to her sister.
' 1
Then Katie gives — of the remaining money to her brother.

How much money does Katie have left?

The attendance at a Sheffield United match is 15,291

2 1
5 of the crowd are children. ?/j

How many adults attended the match?
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Extension

Question 8:

Question 9:

Question 10:

Question 11:

There are 194 students in a primary school.
|
Mr Wallace says that exactly 1 of the students are left handed.

Explain why Mr Wallace must be wrong.

Connor has saved £450.

He spends é of the £450 on a new tyre for his car.
Connor spends % of the £450 on a new guitar.
What fraction of the £450 does Connor have left?
The size of a jar of coffee is increased by one-fifth.
The new size is later reduced by one-fifth.

Is the new jar smaller, the same size or larger than the original?
Explain how you worked out your answer.

A company earns £3,178,784 in 2016.

Z of the income is spent on salaries.

How much money does the company spend on salaries in 2016?
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Fluency Practice

Question 1:

(a) Increase 40 by %
1
(d) Increase 30 by =

(8) Increase 120 by %

Question 2:

(@) Increase 12 by %

(d) Decrease 16 by %

(g) Increase 48 by %

i 2
() Increase 275 by =

Question 3:

(a) Increase 60cm by %

(d) Increase 14g by %

(8) Increase £76 by %

(b) Increase 18 by %
1
(e) Decrease 24 by 3

(h) Decrease 80 by %

(b) Decrease 40 by %

7
(e) Increase 90 by o

2
(h) Decrease 54 by 3

(k) Decrease 240 by %

(b) Decrease 120kg by %

1
(e) Decrease 50 litres by 3

() Increase 92cm by %

(c) Decrease 20 by %
1
(f) Decrease 70 by o

i 1
(i) Increase 72 by 5

(c) Increase 30 by %

(f) Decrease 14 by ;

(i) Increase 84 by %

7
(1) Increase 324 by 3

(c) Increase 400ml by %

(f) Increase 130ml by %

() Increase 1.4kg by %
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Intelligent Practice

1) Increase 24 by§ 1) Decrease 28 by%
2) Increase 24 byg 2) Decrease 28 by%
3) Increase 12 by% 3) Decrease 14 by%
4) Increase 12 byg 4) Decrease 14 by%
20 6
5) Increase 12 by Y 5) Decrease 14 by 2;
20 20
6) Increase 120 by 20 6) Decrease 140 by =
7) Increase 64 by% 7) Decrease 36 byi
8) Increase 64 by% 8) Decrease 36 byz
30 1
9) Increase 64 by 5 9) Decrease 16 by "
10) Increase 6.4 by % 10) Decrease 16 by %
11) Increase £800 by i 11) Decrease 150kg by %
12) Increase £800 by Z 12) Decrease 1.50kg by g
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

Annie is paid £300 per week.
She is going to get a pay rise and her pay will increase by a
What will her weekly pay be after the pay rise?

[a—y

5
Last season, the number of points a rugby team scored was 420.
This season, the number of points they scored increased by 3

How many points did the team score this season?

Ajam jar usually contains 420g of jam.
3
A special edition jar contains — more jam.

10

How much extra jam is in the special edition jar?

Find the missing values

1
(@) 60 reduced by a 3 is the same as 50 reduced by a| ?

. 1
(b) 72 increased by a —: is the same as | ? [reduced by a o

In 1990, the number of birds that live on an island was 1,200.
9
By 2010, the number of birds that live on the island increased by 7

How many birds live on the island in 2010?

Tia is training for a marathon using a special training programme.

Each month she runs % more miles than she did in the previous month.
In January, Tia ran 15 miles.

(a) How many miles did Tia run in February?

(b) How many miles did Tia run in March?

David says that Tia will not follow the special training programme forever.

(c) Explain why David is right.
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Intelligent Practice

Find the value of x:

1) ~of xis6 10) 2 of x is 2
1 . 5 .
2) 50fxlS6 11)Zofx155
1 . X .
3) Zofxls6 12)Z°f4155
1 . by .
4) ngxlsg 13)20f4]$20
5) 2of xis 3 14) 7 of 8 is 20
X .

7) %ofxisSO
5 .
8) Zofxls 20

9) 2 of x is 200
4
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Fluency Practice

Question 1:  Find the original number for each question below.

1 : : : 1 : ;
(a) 5 of a number is 7. what is the number? (b) 3 of a number is 4, what is the number?
. . 5 g . . .
(6) = of a number is 8, what is the number? (d) = of a number is 9, what is the number?
5
: o : o () 1 2 : p
(e) 5 of a number is 12.5, what is the number? () 3 of a number is 27, what is the number?

1 1
(8 T of a number is 2.6, what is the number? (h) 5 of a number is 8, what is the number?

Question 2: Find the original number for each question below.

2 . ' . 2 : : !
(@) Z of a number is 12, what is the number? (b) — of a number is 10, what is the number?
5

©

2 3 < :
(© 7 of a number is 6, what is the number? (d) 0 of a number is 60, what is the number?
() e . o (F) 2 ¢ . . .
— of a number is 12, what is the number? 5 of a number is 3, what is the number?

3 : ; ; b) : : ;
(8) 7 of a number is 27, what is the number? (h) 12 of a number is 35, what is the number?

Question 3: Find the original number for each question below.

(@) A number is increased by % to 16. What was the number?

(b) A number is increased by — to 36. What was the number?

(¢) Anumber is decreased by — to 21. What was the number?

| =t o=

(d) Anumber is decreased by % to 162. What was the number?

(e) A number is increased by - to 49. What was the number?

o) e ot o

(f) Anumberisincreased by 3 to22. What was the number?
(g) Anumber is decreased by —f to 12. What was the number?

(h) A number is decreased by ;—é to 1400. What was the number?
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Rebecca is % of Barry’s age.
1
Barryis  of Neville’s age.

If Rebecca is 4 years old, how old is Neville?

A new snack bar contains 7.5g of sugar.
3
10 of the snack bar is sugar.

Work out the mass of the snack bar.

2
In a class, = of the students have blonde hair.
There are 20 students without blonde hair.

How many students are in the class?

The height of a tree increased by % during 2016.

The tree is 2.47m by the end of 2016.

Work out the height of the tree at the beginning of 2016.
Laura invested some money.

In the first year, the amount of money increased by %
In the second year, the amount of money increased by 1:
In the third year, the amount of money decreased by i

Was the investment a success?
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Fluency Practice

Work out
(@) ;o0f28 (b) of27

) %of42 d) = of 40

(e) 1—100f35 ) = of 22

Work out

4

(@) 2of16 (b) < of30

(© Zof48 (d) = of39

3

(e) of 42 () - 0f 25

NG

(@ =—=o0f55 (h) =of12

Fill in the blanks.
(a)@ of 25=10 (b)[;] of 40 =15
5 8

(c)[;]of36=8 (d) 2 of 24 =20

9 [

Fill in the blanks. Give your fractions in
their simplest form.

@)U of20=8 (b Jof30=6
OJ

() Qof 50=24 () of12=9
[ (]

Fill in the blanks. Suggest two possible
answers for each statement.

@2 of( )=
® = of(J=]
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Fluency Practice

Match the cards to the statements. Use
each card once only. All fractions are
proper and in the simplest form.

(-0

3

)

of 40 =(_ ]

(3) (4] (7] (o) [21) (24 (30] (33

)
)

W[N] |
&) (&) & (@) (=)
W IN]| =
glaaicna

?Of18= ?of20=

(] @ ()

< of 99 = 5 of 40 = Tof48=C]
%ofD=O @of56=

w
&) (=) (@]
N
&) (<) (@]

[44] [a5)
[45) [60)
(72) (89
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Intelligent Practice

Calculate:
1) §_|_l
4 3
2)
3)
3 4
5) 1_3
3 4

1
6) 15——
7) 12-32x2
4 5

3 2

8) ZOfE

9) % more than %

3, 2
10) Increase " by =

11) Decrease Z by E
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Fluency Practice
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Fluency Practice
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Fluency Practice
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Fluency Practice

Section One

Calculate each of the following

35
3 5

O 2§71_6 ®
2 3

©® 3z-17

12 12 1 4
5 .2 11 305
nxg @ 55 ERAT;
13 2

Section Two

Calculate each of the following

® 3(:+3) @

° i) @

Section Three

Calculate each of the following

@ 5f2+11
_0_ —
6 3 6
@ 4+2f31
— _0 —
5 5 2

5 1 1 305 2
l—of 2— X — — X 1=o0f4—
@ 15025 %3 @ gxlzo43
15 2 2 303
21—+ 2012 Zo(1242
©® 23+5013 © 70f<14+8>
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2 Decimals
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Fluency Practice

Work out:

1)
2)
3)
4)
5)
6)
7)
8)

9)

12.28 + 443.2

15+ 487.3

38.16 + 71.5

448.6 + 44.34

20.61 + 54.4

8.28 + 18.84

42.49 + 9.13

34.64 + 22.59

33.64 + 38.48

10) 387.1 + 495.7
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Fluency Practice

Question 1: Work out the answers to the following additions
(a)4.5+2.3 (b) 84+ 1.7 (c) 0.7+0.5 (d) 2.8+10.3
(e) 13.4 +28.9 (f) 206.2+72.8 (g) 6.4+159 (h) 0.5+0.8+0.1

(i) 9.7+14+13 (j) 16.8+3.9+102.2+87.4

Question 2: Work out these additions
(a) 0.14 + 0.53 (b) 0.35+0.65 (c) 2.47 +3.34 (d) 4.93 +2.25
(e) 4.77 + 1.84 (f) 10.38 + 6.81 (g) 7.83+1249 (h) 0.56+107.08

(i) 9.85+2.63 +0.89 (j) 0.08 +0.12 +0.87 +1.93 + 2.06

Question 3: Complete these additions

(a) 6.5+ 1.73 (b) 0.56 + 1.6 (c)2.45+7.38 (d) 8.67+3.9
(e) 9.2 +4.87 (f) 1.08 + 2.6 (g) 20.6 + 15.84 (h) 41.8 +5.35
(i) 7.4+2.329 (j) 0.018 +2.39 (k) 9.224 +8.89 (1) 0.293 +9.815

(i) 452+0.3+0.79+ 14 (j) 0.94+4.8 +12.09 +5.63
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Fluency Practice
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Purposeful Practice
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Extension

Question 1: Richard buys a notebook that costs £6.78 and a pen that costs £4.19.
Work out the total cost.

Question 2: Holly is saving money.

In January, she saves £15.15 = {5[,

In February, she saves £8.82 o oX
In March, Holly saves £13.37 \ﬁ
Work out how much she has saved in total. e @

Question 3: David drives 4.8 miles to Bristol and a further 6.7 miles to Bath.
Work out how far he drives in total.

Question 4: Mr Jenkins has three pieces of rope. &
The pieces of rope are 2.35m, 1.8m and 3.06m long. g\
Work out the total length of the pieces of rope. %
Question 5:  Shown is a rectangle. 11.26¢cm
Calculate the perimeter. 5.6cm

Question 6: Work out the missing number.

-5.28=109

Question 7: Shown is a shape made from three identical squares and three identical
rectangles.
Calculate the perimeter of the shape.

Question 8: The first four terms of a number sequence are
2.52; 2.71;: 2.9, 3.09;cun0w
Work out the next two terms.

Question 9:  Grace is working out 12.4 + 3.18
Can you spot any mistakes?

Question 10: Neil writes down four numbers with a sum of 50.
All the numbers have two decimal places and no two numbers are the same.
Write down four possible numbers Neil could have written down.
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Problem Solving

R aos| esor | sgo+ | 1000+ | oI+
52°0+ 92+ 60+ | 01000+ | 01+
52°0+ 50+ 20+ 050+ | 650+
80+ §5'0+ 1z0+ | sgo+ 50+
A% 590+ | 2000+ g2+ 10°0 +
G1°0+ ¢°0+ 6°¢t+ 2°0+ - ;ctﬁm

‘Ajjleuo8elp anow 10u oQg
"ysiui} ayi 1e 0°€ Aj3oexa Jo |e101 e noA saAIS ydoiym azew ayi ysnoayl 9inoJ ayi pui4

dZB[A Sjew1d2QqQ 3uIppy

Page 204



Problem Solving
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Problem Solving
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Problem Solving
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Fluency Practice

Work out:

1)
2)
3)
4)
5)
6)
7)
8)

9)

47.71 — 47.65

458.6 — 7.19

188.8 — 11.66

45.02 — 23.32

15.02 — 7.94

482.8 — 18.03

18.08 — 9.72

366.5 — 228.1

215 — 38.46

10) 405.1 — 75.8
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Fluency Practice

Question 1: Work out the answers to the following subtractions

(a) 0.9-0.1 (b) 0.8-0.3 (c) 0.7-0.6 (d) 0.5-0.2
(e) 1.2-03 (f) 1.5 - 0.4 (g) 1.8-0.6 (h) 1.9-1.2
(i) 24-05 () 3.8-25 (k) 41-18 @) 5.5-3.1
(m) 8.7 -1.3 (n)9.2-5.8 (0) 7.3-3.9 (p) 8.5-0.9

Question 2: Work out the answers to the following subtractions

(@) 7.7-15 (b) 8.5 -4.1 (c) 197-186  (d) 26.2-5.2
(e) 545-231  (f) 804-103  (g) 16.6-9.2 (h) 85.7 - 50.4
(i) 7.3-4 (j) 8.6 -2 (k) 24.9-6 @) 15.1-9
(m) 7-1.3 (n) 9-3.6 (0) 20 - 4.4 (p) 32-8.7

Question 3: Work out these subtractions

(@) 0.39-0.23 (b) 0.47 -0.15 (c) 0.75-0.41 (d) 0.99 - 0.65
(e) 0.46-0.18 (f) 0.81-0.55 (g) 1.24-0.72 (h) 213 -1.66
(i) 8.63-04 (j) 5.55-31 (k) 813-0.5 () 3.84-19
(m) 10.4-0.15 (n) 5.8-1.92 (o) 14.5-0.77 (p) 12-4.55
Question 4: Complete these subtractions

() 405-19.3 (b) 88.3-5258  (c) 155.73-48.89 (d) 203.5 - 51.64

(e) 498-70.94 (f) 500-384.11 (g) 8200-9013 (h) 10000 - 4901.33

Question 5:  Work out each of the following

(a) 1.284-0.151 (b) 2.028 - 1.115 (c) 39.45-6.061

(d) 40.5-7.258 (e) 204.1945 - 203.7885 (f) 716 - 409.4822
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

Question 7:

Paul buys a book that costs £6.89 and pays with a £10 note.
How much change should Paul get?

Jennifer has 1.2kg of flour.
She uses 0.75kg of the flour to bake a cake.
How much flour does she have left?

o 6.1cm
The perimeter of the triangle is 16.1cm. :
Work out the length of the missing side.

5.3cm

The first four terms of a number sequence are

15.8, 15.1, 144, 13.7, __,

Work out the next two terms.

Find the missing numbers

8.41 + = 25

17.27 - = 1.89

Maxine buys 3 magazines that cost £1.99, £2.45 and £3.70.
She pays with a £50 note.
Work out how much change she should receive?

Angus is working out 7.23 - 1.91 | 72 |3 |
Can you spot any mistakes? A B 911

167 (2 |

7.23-191=672
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Fluency Practice
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Fluency Practice

2.3x18

0.23x1.8

230 x 18

450 x 3.9

0.45x 3.9

4500 x 0.39

0.72 x 17

72 %017

0.072 x 1.7

4.5

7.2

180 |=41.4

230 x 0.18

23 x 1800

0.39 |=1.755

45x3.9

= 1755

0.45 x 390

0.17 (= 1.224

7.2x1.7

=12.24

720 x 0.017
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Fluency Practice
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Fluency Practice
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Fluency Practice

Work out:

1)
2)
3)
4)
5)
6)
7)
8)

9)

15.94 x 3

63.5 X 7

367.9 x5

67.31 X9

815.8 x 4

5.202 x5

5174 X 4

106.7 x 7

52.22 X6

10) 43.61 X9
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Fluency Practice

Question 1:

(a) 1.2x4

(e) 1.6 x 4

(i) 6.7x8
(m) 375x6
(@9 1243.7x9
Question 2:

(a) 1.26x2
() 7.53x5
(i) 16.42x9
(m) 0.383x3
(g0 3.706x8
(W) 1.3842x3
(y) 51283x6
Question 3:

(a) 1.24x13
(e) 6.35x35
(i) 0.28x 57
(m) 1232x73
(g0 2.03x152

(b)
(f)
0)
(n)
(r)

(b)
()
(3
(n)

(b)
()
0)
(n)
(r)

32x3

29x5

3.8x9

528x7

79.5x8

2.63x3

0.38x8

109.34 x 4

1.442x 6

4953x7

4.3342x6

293.421x 4

2.51x17

7.65x 37

0.817x 63

2.3x123

1.02 x 607

(c)
(8)
(k)
(0)

(c)
(8)
(k)

()
(g)
(k)
(0)

53x2

42 x6

12.8x3

173.2x3

514x3

9.62x6

9.08x3

8.291x3

0.482x8

8.2039x 5

12.5x 23

58.2x46

38.43x19

4.7 x 253

Work out the answers to the following multiplications

(d)
(h)
0
(p)

Work out the answers to the following multiplications

(d)
(h)
0
(p)
()
(x)

Work out the answers to the following multiplications

(d)
(h)
M
(p)

7.3x3

95x7

243 x4

2158x6

6.28x 4

12.38x 7

12.04x7

9.623 x5

0.085x7

7.3112x9

3.28x21

4.23 x52

5.45x 87

8.6 x 351
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Fluency Practice

Work out:

1)
2)
3)
4)
5)
6)
7)
8)

9)

53.21 x 36.2

461.6 X 1.6

17.97 X 42.3

87.65 x 40.7

560.8 X 3.64

7.812 X 1.26

6.941 x 85.2

24.08 X 47.6

443.3 X 6.49

10) 86.88 x 4.01
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Fluency Practice

Question 4:  Work out the answers to the following multiplications

(@ 0.2x0.3 (b) 0.7x0.2 (c) 09x04 (d) 0.8x0.6

(e) 0.7x0.7 (f) 0.6 x0.5 (g 08x0.5 (h) 05x0.4

(i) 0.8x0.1 §)) 0.07x0.5 (k) 0.04x02 (1) 0.8x0.07
(m) 0.06x09 (n) 0.04x0.06 (o) 0.08x0.03 (p) 0.02x0.03
(@9 0.003x06 (r) 09x0.002 (s) 0.008x0.6 (t) 0.005 x 0.4
(u) 0.007x0.02 (v) 0.008x0.09 (w) 0.04x0.004 (x) 0.005x0.003

(y) 0.008x0.05 (z) 0.009x0.008

Question 5:  Work out the answers to the following multiplications

(@ 31x05 (b) 6.3x0.3 (c) 54x0.7 (d 9.2x0.6
(e) 4.8x09 (f) 24x32 (g 9.1x13 (h) 55x7.7
(i) 1.7x4.3 §)) 9.4x49 (k) 0.13x0.7 (1) 0.48x 0.3
(m) 054x09 (n) 0.18x0.17 (o) 83x037 (p) 3.5x0.74
(q) 094x0.02 (r) 0.38x0.06 (s) 0.039x0.7 (t) 0.084x 1.2

(W 81x0.05 (v) 9.4x0082 (w) 0.0048x0.12

Question 6: Work out the answers to the following multiplications
(@ 129x14 (b) 352x24 (c) 492x034 (d) 812x0.29
() 63x246 (f) 92x715 (g 0843x19 (h) 0.548x2.7

() 618x51 (j) 182x64 (k) 5.03x28 (1) 40.8x53
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Fluency Practice
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Extension

Question 1: Regan is paid £6.70 per hour. He works 8 hours in a week.
Work out how much Regan should be paid.

Question 2: Calculate the output

Input Output

38 {x7 {2

Question 3: Calculate the area of the rectangle

19.4cm

8cm

Question 4: A bottle of cola costs £1.29
Calculate the total cost of 6 bottles of cola.

Question 5:  Mr and Mrs Jones bring their 5 children to a museum.

Adults £17.60 each
Children £7.55 each

Work out the total cost for the family.

Page 230




Extension

Question 6:

Question 7:

Question 8:

Question 9:

Class 8A are going on a trip to a windmill.

The trip costs £3.70 each and there are 26 students in 8A.
How much money should be collected?

MrJenkins is building a fence for his garden.
The fence costs £12.60 per metre to build.
The fence is 5.3 metres long.

(I

(S

Work out the total cost of building the fence.

Calculate the area of this rectangle.
6.8cm

2.7cm

Here are the prices of some fruit in a shop.

‘b £0.97 per kilogram
£1.07 per kilogram

//1 £1.46 per kilogram

Find the total cost of 1.2kg of apples, 3.5kg of oranges and 1.9kg of bananas.
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Fluency Practice

Calculate:

(a) 18x9 (b) 43x8
(c) 37x12 (d) 52x13
(e) 28x19 (f) 62x17
(g) 253x7 (h) 417x%x9

Calculate:

(@) 18x0.9 (b) 43x0.8
(c) 37x1.2 (d) 52x1.3
(e) 78x1.6 (f) 21x3.1
(g9 383x0.7 (h) 732x0.9

Calculate:

(@) 18x09 (b) 4.3x0.8
() 39%x11 @) 6.7x1.3
(e) 1.11x25 (f) 2.1 xX9.53
(@9 0.26x0.7 (h) 7.52x0.9

(a) A hotdog costs £1.29. Find the cost of
8 hotdogs.

(b) A carpet is £18.49 per square metre.
Find the cost of 13 square metres.

(c) John gets paid £8.56 per hour. He
works 25 hours in a week. How much is
his weekly pay?

(a) Aisha buys 2.4 kg of apples. Apples
cost £1.18 per kg. How much does Aisha
pay for her apples?

(b) Silk fabric is sold for £7.45 per metre.
Isla needs 2.8 metres of fabric. How
much will this cost?

(c) Car hire costs £24.25 per hour. Ewan
hires a car for 4.5 hours. How much will
he pay?
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Problem Solving
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Problem Solving
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More-Same-Less — Decimal Multiplication
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Fluency Practice

Work out:

1) 46.27 =7
2) 17421 +3
3) 189.72-+9
4) 568.8 6
5) 111288 +4
6) 1261.6 +~8
7) 1039.5+7
8) 1360.8 -6
9) 1206.64 +8

10) 2499 =7
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Fluency Practice

Question 1: Work out

(a) 4.6+ 2 (b) 6.5+ 5 (c) 9.6 +3 (d) 8.4+4
(e) 7.2+3 (f) 6.8+4 (g) 185+5 (h) 9.6 + 8
(i) 14.4+6 G) 27.9+9 (k) 9.1+7 1) 365+5
(m) 33.2+ 4 (n) 19.2 + 3 (0) 27.6 + 6 (p) 42.4+8

Question 2: Work out

(a) 3.96+3 (b) 0.75 + 5 (c) 856 + 4 (d) 0.528+6
(e) 581+7 (f) 0.657+9 (g) 2.176+ 8 (h) 0.238+7
(i 01197  (j) 0.072+6 (k) 2.556 + 3 1) 3.325+5
(m) 701.2+4  (n) 9.927+9 (0) 12.065 + 5 (p) 0.16024 + 4

Question 3: Work out

(a) 13=+2 (b) 29+2 (c) 14 =5 (d) 243 =<5
(e) 54+4 (f) 0.038+5 (g) 1.4 +8 (h) 213 +6
(i) 0.284+8 (j) 543+6 (k) 47.5+8 (1) 742 +3

Question 4: Work out the following divisions

(a) 84+12 (b) 0.143 + 11 (c) 345 +15 (d) 0.322 + 14
(e) 2.266+22 (f) 7.68+12 (g) 0.56 +16 (h) 15.75+ 25
(i) 212+40 (G) 77.25+75 (k) 0.9936 + 23 (1) 3.52+110
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Extension

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

Question 7:

Four friends share £6.52 equally.
How much do they each receive?

James has 3.65m of rope into 5 pieces of equal length.
How long is equal piece of rope?

The perimeter of a square is 53.3cm. ?
Work out the length of equal side.

Perimeter = 53.3cm

SuperSaver sells 6 eggs for £1.14
TopBuys sells 8 eggs for £1.68
BestBuys sells 12 eggs for £2.64

Which shop is best value?

Roger is organising a trip to a museum.

The total price of the tickets is £103.50

The total price for the coach is £64.80

If nine people are going on the trip, how much should they pay each?

A shop charges 12p to photocopy one page in full colour.
Sam has photocopied some pages in colour and the total cost is £16.08
How many pages did he photocopy?

The perimeter of a regular octagon is 4.096cm
Calculate the length of each side.
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Fluency Practice

Work out:

1) 0.4+ 0.002
2) 1.6 +0.004
3) 1.8-+0.009
4) 0.027 = 0.9
5 0.03+0.1

6) 0.04 -+ 0.02
7) 0.024 = 0.06
8) 0.16 = 0.008
9) 5.5-+0.011

10) 3+ 0.6
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Fluency Practice

Question 1: Work out

(a) 6+0.2 (b) 4+0.5
(e) 25+0.5 (f) 15+0.3
(i) 1.4+0.2 (j) 3+0.6
(m) 3.5+0.5 (n) 45+ 1.5
(q) 0.48 0.3 (r) 0.36+0.9
(u) 0.072 + 0.6 (v) 1.05+0.5
Question 2: Work out the following
(a) 2+0.05 (b) 3+0.02
(e) 15+ 0.01 (f) 60 +0.06
(i) 0.4 +0.05 (j) 0.8 = 0.02
(m) 1.2 = 0.06 (n) 49 +0.07

(@9 1.278+0.06 (r) 0.0476 + 0.07

Question 3: Work out

(a) 0.6 =0.02 (b) 34+0.2
(e) 6 +0.005 (f) 12+0.1

(i) 0.06 +0.15 (3) 20+ 0.004

(m) 0.275 +0.005 (n) 750+ 2.5

(c) 12+03
(g) 0.8+0.2
(k) 14+ 0.7
(0) 0.15+0.5
(s) 0.048 +0.2

(w) 4.29 + 0.3

(c) 6+0.03

(g) 0.08 +~0.04
(k) 0.27 = 0.09
(o) 0.058 = 0.02

(s) 360 +0.12

(c) 09+0.5
(g) 1.4+ 0.04
(k) 2.672 +0.08

(o) 5.6 +0.004

(d) 2+0.1

(h) 0.9+0.3
Q) 24+1.2
(p) 0.72+0.2
(©) 0.095+0.5

(x) 0.784+0.7

(d) 12 = 0.04
(h) 0.06 +0.02
() 0.28 +0.07
(p) 0.075 +0.05

(t) 45+ 0.15

(d) 2.4 +0.08
(h) 0.066 = 0.3
1) 2.75+0.05

(p) 360 +1.2
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Extension

Question 1: A sweet cost £0.04

How many sweets can I buy for £207?
Question 2: Mia has 20 metres of ribbon.

She is cutting it into pieces that are 0.8m long.

How many 0.8m pieces of ribbon will she have?
Question 3: Yasmin has £17 in five pence pieces.

How many five pence pieces does she have?
Question 4: Find the missing numbers

0.4 x =20.8
0.7 x =45
.

Question 5: A teacher is placing textbooks that are 2.5cm thick on a bookshelf.

The teacher wants to place 60 textbooks on the shelf. ——

The bookshelfis 160cm long.

Does the teacher have enough room on the bookshelf for the textbooks?
Question 6: A grain of rice has a mass of 0.015g

How many grains are there in 300g of rice?
Question 7: A type of pebble has a mass of 0.8g

How many pebbles are there in 40kg?
Question 8: Use approximations to estimate the answer to the following
(a) ) (b) (©)

9.89 6.97 x 201.82 1802.7 — 397.2
0.502 0.391 0.699
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Fluency Practice

-

5) Find the missing number in this calculation 2.56 x

4 Dividing Decimals
Calculate:
a)8+0.2 b) 15 + 0.3 c) 28 + 0.4
d)32+0.2 e) 18+ 0.3 f)42 + 0.6
g) 124 + 0.2 h) 64 + 0.4 i)91+0.7
j)8.4+2 k) 2.4 +3 )8.1+3
m) 3.6 + 6 n)12.8+4 0)10.2+6
p)9.5+5 q)7.2+4 r)9.8+7
s)1.02+0.6 t) 0.64 + 0.04
u) 1.6 + 0.05 v) 0.135+0.5

1) A pencil costs £0.04. How many pencils can you purchase for £5?
2) 5 friends share £7.60. How much do each of them get?
3) Carlos has £20 in 2p coins, how many 2p coins does he have?

4) The perimeter of this square is 9.4 cm.

|2

What is the length of each side?

? | =0.768

6) A regular pentagon has perimeter of 16.25 cm.
What is the length of each side? Give the answer in centimetres.
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Fluency Practice

Calculate:

(a) 333+9 (b) 4152-+8
(c) 1442-+7 (d) 1170=+6
(e) 1965 (f) 813 +4
(g) 622-+8 (h)y 513+6

Calculate:

(@) 1925+5 (b) 2252-+4
() 1068-+6 (d) 385.6-+8
(e) 3055+5 (f) 3073 +7
(99 1845+3 (h) 7353+9

Calculate:

(a) 76.5+ 0.5 (b) 164 - 0.4
(c)127 +0.2 (d) 252.6 - 0.6
(e) 442.2+-1.1 (f) 14.08+ 0.08
(9) 22.2+0.04 (h)116.76 +-0.12

(a) A baker has 3 kg of flour. If each cake
requires 0.2 kg of flour, how many cakes
can the baker make?

(b) A pile of books is 12 cm high. If each
book is 0.8 cm thick, how many books
are there in the pile?

(c) A bottle contains 2.4 litres of
lemonade. If each glass contains 0.3
litres, how many glasses of lemonade can
be filled from the bottle?

(a) A string of sausages is 1.26 m in
length. If each sausage is 0.18 m long,
how many sausages are there?

(b) A milkman is carrying a crate which
contains 12 bottles of milk and weighs
11.5 kg. If the crate weighs 0.7 kg, how
much does each bottle of milk weigh?
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Problem Solving
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Decimal Addition and Subtraction
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Decimal Multiplication
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Ivision

Decimal D
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Multiplying and Dividing Decimals Match

Work out each calculation and tick off
your answers at the bottom as you go:

B

= C
42 + 100 = 5 03 %04 =
01 —
5 F
i = 0.94 x 1000 =
03 - 8 x0.2=
[ J
- - 36 _ 18 _
16 + 2 = 25 _ 60 9
S M
K 36 - 0.1 =
0.08 x 3 = T
9 _ N
o P 30 — 0.6 x 60 =
0 _ S _
5 0o — _ =
0.2 x 900 = 12
S 5
15 + 300 =
T U
v W 04 =10 = 4 _
6 _ 1.9 _ 200
002 —|lo1 — | [
0.8 _ Y
8 —— 0.6 x 0.9 =
Z
22+ 11 =
jumbled answers 180
0.1 1
36 0.5 0 0.6 0.05
- 20 0.2 940 0.54
undefined 0.42
0.3 0.12 300 || 360 40
— 0.04 0Lz
1.6 24 : 0.24 50 0
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Fluency Practice
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Operating on 3.142
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Operating on 3.142
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Decimal Problems

A) Which calculation gives an answer closest to 1?

B) Emma earns £9.85 per hour. How
much does she earn if she works for

)
A) 0.83+10
8 hours?
B) 0.95x10
C) 0.07x10
D) 1.1+10
C) Arectangular room is 3.6m wide D) A 1kg bag of potatoes costs £1.18.
by 5.2m long. Calculate the area Emma needs to buy 12 of these bags. How
of the room. much change would she get from £207?
E) 12 x08=8x7? F) Three of the numbers below add up to
exactly 1. Which three?
A) 0.89
B) 0.001
G) How many 5p coins would you ) 009
need to make £5 million? D) 0.1
E) 0.99
F) 0.01
H) Calculate 4.2 x 0.003 )  Which number is half way
between 1.89 and 1.907?
J) A 2.5 litre bottle of lemonade is poured into K) Calculate 15.99 - 0.0345

cups. Each cup is filled with 300ml of
lemonade. How many full cups can be
poured?
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Problem Solving

Problem Card 1 — Make 50
156 + A=50

B + 391 — 50 Work out the value of A, B and C.

A+B+C=50

Problem Card 2 — Number sentence

Can you use five of the digits 1 to 9 to make this number sentence true?

. + " = 417

Can you find other sets of five digits to make this number sentence
true?

Problem Card 3

Geoff buys the following items.

He starts with £200

How much does he have left once her has bought everything?
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Problem Solving

Problem Card 4
Look at these number lines.

4.1 A 4.2
| l '|

I I I | | | | | | I

Find the difference between A and B

Problem Card 5 — Missing Digits

Can you work out the missing digits in these calculations?

3 . 1 7 7 <9
+ 42 3 _ a.|:|
5 ¢ 2 4 4 4.4
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Decimal Addition and Subtraction Explorations
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Decimal Multiplication Explorations
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Decimal Multiplication

Gl o 6°0 17 vl Z
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Decimal Steps
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Decimal Steps
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Decimal Steps
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Decimal Multiplication Targets

ez =[] ] x[ ]

oz =[] ]V x[ ]z
eoz = [ ]vx[ ][]
eoc = ][] x [ ]V
vo'z =[] ]v x [ ]}
v0'Z = lox }
2= O <0 <00 © e U
soz =[] ] x[ ][]
Z = D.O X _H_.N (@)
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Aym uiejdxs 17 = _H_.v % _H_.v
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Decimal Multiplication Targets
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Decimal Calculations Grid Puzzles
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Decimal Calculations Grid Puzzles

0.2

+ 0.35

x 10

}10
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- 2.55

+10

‘[ + 0.006

|07
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Radiating Decimals
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Radiating Decimals
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Radiating Decimals
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Radiating Decimals
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3 Solving Linear Equations
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Fluency Practice

Decide whether the following are an expression, an equation. a
formula, or an identity.

y=mx-+c 2a+b 3(b+4)=12
%,:6 abc A =mr?
Xy = yx 2x +4 =12 x+ 2y
2a — 5b xX+x+x a+ bc

5x — 6 =46 2x + 4 a’ + b? = ¢*
3(a—5) C =mnd 2x =x—05
s:% 2x?% = 64 x+y=y+x
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Intelligent Practice

Solve the following equations using the balancing method:

1) x+53=9.5 10) 5.6 + x = 9.2

2) 82=72+4+x 11) 5.6 —x = 9.2

3) 85=72+x 12) x — 5.6 =9.2

4) 83 =x+5.5 13) —x — 5.6 = 9.2
5 x—52=99 14) —5.6 —x = 9.2
6) 45—x=1.2 15) —=5.6 + x = 9.2
7) 45—x=46.3 16) —=5.6 + x = —9.2
8 x—63=1.2 17) =5.6 —x = —9.2

9) x+5.1=89 18) —9.2 —x = -=5.6
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Intelligent Practice

Solve the following equations using the balancing method:

1) ;—2 =7 10) —4.1x = —24.19
2) 4.1x = 16.81 11) =~ = —24.19
3) 5.6x = 12.88 12) X _ —24.19
4.1

4 ==99 x

1.3 7 13) —i= —24.19
5) = =71 x

2.9 14) i 24.19

_ X

6) 83=77 15) —2:19 = —4.1
7) 2.2x =7.26

8) 4.1x = 24.19

9) 4.1x = —24.19
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Fluency Practice

1)

2)

3)

4)

J)

6)

7)

8)

-
45

5x =918
= =3
7+x—

—x = 0.043
x—52=-10
3_4

X 1000
7.4

918 =5+ x

9)

10)

11)

12)

13)

14)

15)

16)

X 0.043
_2_'
45 .
76
1.2x = 41
x—(=3)=5
X 7
3 4
—1=x—-1
41x = 1.2
x 7
10 5

17)

18)

19)

20)

21)

22)

23)

24)

—-1=—x
7
—§+x:03
—0.1=x—i
10
X
%x=—5
e O
4 11
7
Z=x+2
L—}=0.O7x
5
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Fluency Practice

Sz—d=9%(z¢
m'uwA
-=2-(82

“y=g+/(vz

‘9|qeIIBA UMOUMUN 8y} JO an|eA 8y} pulj 0) uonenba yoes aA|0S

M+ 8Z = Sh— (G

AR

S |m

(11
L~-=5—4(

6L =% +12(¢

—lm

€=-—(0¢

Il
< | @

= q%— (92

N|m

wnilns

= =2(z2Z
8—= /- (8l
82— =dL— (p1
zz = 81— (01

ys =81 (9

LZ=7£(2

L

-~ =xp—(62

z
B g
Mmlmuw:mN

=l
mlwn

-b(12
€ =45 (2]

_ S (
01 =3-(€l
ZT1+x=9Z— (6
g=2+9(g

8= (]
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Fluency Practice

Solve:
(a) x+3=10 (b) 5+x=12
(c) x+7=9 (d x+35=75
e 114+x=3 (f) 27=x+12
(99 x+7=-2 (h) 55+x =125
Solve:
(@) x—2=7 by x—4=1
(c) 8=x-3 d x—12=7
(e) 65=x—-1 (f) x—42=73
(9) x—3=-=7 (h) 85=x—-15
Solve:
(a) 2x =8 (b) 6x =18
(c) 15 =3x (d) 4x =-20
(e) 2x = 4.8 (f) —45 =9x
(g9) 5x =3 (h) 10x =7
Solve:

X X
(a)§=12 (b);=2

X _ _x
() t=-1 (d) 13 =73

X X
(e) P -5 (f) o= 1.5

X X
(9) ;=06 (h)y —2=~-
Solve:
() x—8=15 (b)x—25=7
(c) 2x = 134 (d) 0.5x =4
(e)x+3=9 Hx+03=1.7
(g) 72 = 6x (hyx+6=15
(i) g =6 (j) —40 = 5x
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Intelligent Practice

Form the following expressions starting from x:

e 2x+3 o Ax+43
2
* 2x—3 4x-3
2
e —2x+3
e 2(4x —3)
e 3—2x
. 2(4x-3)
. —3-2x >
. 2(4x-3)
R - + 6
2
2 4-—x—3
° )2—6— 3 . 8( (75 )+6)
9
. X3
2
x+3
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Intelligent Practice

Solve the following equations using the balancing method:

1) 2x+3 =22 10) =7 + 4x = =25
2) 22=2x+73 11) =7 —4x = =25
3) 2x—3=22 12) =7 — 6x = =25
4) 4x —3 =22 13) =7 — 6x = —28
5 4x —7 =23 14) —6x — 7 = —28
6) 7—4x =23 15) 6x + 7 = 28
7) 7—4x =25 16) 6x + 8 = 28
8) 7+ 4x =25 17) 3x +4 = 14

9) 74+ 4x =-25 18) 3x +14 =4
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Fluency Practice

L1—=¥1 — XE : E=¢C+x
L= 0l 3 6
T 0T— = L—X¢E T ST =0T + X9
/T4 89 = LT +X61 9 IT— y— = X€ ,
T IS =LT—X61 T L=T1T+Xg
b+ SI=9+~x 9 6— €=X9 c
™ ST =02+ Xy ™ IT=6+%X9
v+ 6=%3 " /- € = xg )
T S=¥—XxC T 0T = L+ X¢

= X =X

G+ E=¢7+ — 74 6 € N
T ST=2C+Xx§ 0 L=17+X¢g

¢, WdY} 1091100 pue apew uaaq aAey sayelsiw jeym Apyuapl noA ue)
s pawliouad Ajjoali0o days isu1 J1Idy) pey aAey suollenba asay) Jo YoIypA
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Fluency Practice

9=t +U% (0l 9L =8lL+U% (g

c=up+ /1 (6 € = G+up (v
G =ug+/ (8 G =9+uz (¢
9L = Gg—ug9 (/ /L =9L—-uolL (¢
o€ =uol + 12 (9 8Z = Jz+up (I

2JIU 00] J0U ale ]Jey] siamsue ylim wCO_“_mj_um 9WOS
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Problem Solving

= 23 = 44
3x+1 | x+1 x4+ 2 x+5 2x+1 | 2x+ 2
X = X =
=31 =61
9x + 2 X x+5 x+2 3x+2 | x+7
X = X =
= 65 =35
2x+1 | 2x+8 | x+1 x+1 3 x+1 2x+ 3 2
X = X =
=69 =90
dx+1 | x+2 x+5 x4+ 3 x+1 x4+ 2 x+1 x+ 8
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Problem Solving

=27 =16
x—2 | 2x—1|3x—-1 4x + 5 2x x+2
X = X =
= 26 =16
3x—1]| x—-1 -1 x—1 x—2 | 3x+3
X = X =
=53 = 81
x+1 | 2x+1 ]| x+1 x+2 5x+1 | x—3 x—2 x—1
X = X =
= 24 =18
2x— 2 0 x—1 2x—6 2x — 4 -1 2x—2 7
X = X =
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Fluency Practice

Question 2:  Solve the following equations
@ *, 129 M®X_ g_9g ©@ %, ,_3
4 2 5

Question 3: Solve the following equations

(a) x;1:3 (b) “’T“lzz (c) x;2=6

(e) w —25 f) x+2:_1 (g) w+20:

-7 (
-+ 8

3 7 =2
6 2 8
4 8
(h) X-— 9 _
4 2
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Intelligent Practice

Solve the following equations using the balancing method:

1)

2)

3)

4)

5)

6)

7)

8)

9)

~+4=41

S—8=41

8—2==41
3

8 —==43
3

8__’5:43

10) ] ’%8 = 43
11) — ’“3;8 =43
12) %‘8 = —43
13) 222 = 43

6

14) = — 16 = —43

15) %—16 = —43
16) _16—16 = —43
17) —§—16 = —43

18) —%—20 = —50
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Fluency Practice

Question 4: Solve the following equations

(@) 2a _ () 2x _ (@ 3x _ (d) 7x _
?"6 ?'4 10‘6 2_28

(&) 3x _ ® 2o . (@ 3x_ (h) 5x _
I_12 5 = 8 > =2 =3

Question 5:  Solve the following equations

(a) 3x+5:7 (b) 5x—12:11 () 4x+2:5 () 10x+3 _

2 3 6 4 4
(e) 5x—8:10 (f) 8x+4:12.8 (8) 2x+13:1 (h) 3x—4:_4
2 5 3 7
() 7x-12 ) 29-2x (k) 100 -5x () 24-3x
3 - 25 3 =5 3 =30 B =5
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Intelligent Practice

Solve the following equations using the balancing method:

1) 2?" +4=41 10) 12;” =43

2) 2x;—12 — a1 11) 12;6x — 43

3) 2x;12 — a1 12) 4—32x — 43

a) 2x;12 — a1 13) —4;2x — 43

5) = —12=41 14) =% = 43

6) = —12 =42 15) === = 43

7) 12— z?x = 42 16) —‘”:x = —43
8) —— =42 17) —4 + 2 = —43
9) == =42 18) —43 + = = —4
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Fluency Practice

Solve these equations.

@) x+6=11 (b) x+11=6
(c) 8+x=15 () x+3.2=98
() x—3=10 (f) x—10=3
(99 3—x=10 (h) 23 =45—x

Solve these equations.
(a) 3x =15 (b) 8x = 64
(c) 2x =15 (d) —2x =6

(e) >=5 (H ;=5
(9) 10 =7 (hy 3=-7.5

Solve these equations.

(@) 2x+7=15 (b) 2x—7 =15
() 7+2x=13 (@) 13+2x=7
(e) 2x+13 =7 (f) 3x+1=10
(g9 3x—1=10 (h) 17=3x—-1

Solve these equations.

(@) 6—2x=14 (b) 20=2—6x
(c) 8—3x=2 (d) 7—x=10
() 13—5x=3 (f) 6=5-2x
(9) 95=2—-3x (h) 6.3—x =289

(@) The perimeter of this rectangle is
472 cm. Find its area.

4x cm

3cm

(b) The area of a triangle is 75 cm?. If its
base is 3x cm and its height is 20 cm,

find the value of x.
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Fluency Practice

Solve:
(a) 2x +3 =15

(b)y 3x—7=11

(¢) 7+5x =27 (d) 4x+15=45
(e) 3x+10=1 (f) 5=2x—-9
(99 7x+7=0 (h) 4x—1=6
(i) 5+42x=8 () 6x—0.5=25
Solve:
X X
(@ 5+1=5 (b) ;—2=13
(c) 6+§=18 (d) §+2.4=3.6
X X
() +9=3 (H;-1=0
(9) 6=7-8 () ;-5=15
. x . X _
(i) 25+2=3 () 2+5=-1
Solve:
(@ 2=5 () ==1
(c)4=—1 (d)xziz—z
()Ez T f) x+0.5 =3
_ x-10 x_+9
(9 7== (h)y -/ =2
o\ x=3 _ N o X2
(I)T_O'S G) —2.5= 3
Solve:
(a)’%“=0.2 (b) 2.5x — 1 = 14
(c)§—6=—0.6 (d)3=2x+3
X x+7
(e) 5 +E =-1 (f) —20 = T
X 1
(g)3x—4—1 (h)g—z—z
()8+5=0 (G)5=9—2x
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Fluency Practice
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Fluency Practice

L
=7—
€T — A€
m”.X.
9§ =
8¢ =
mNHth
XL
9¢ =81
9+93C¢=1%¢

——6l=1L
xz
X9 =GT
6—— =
x9
¥Z = xC
8=
xZ
ST=L+=
xZ
L=x
1z = x¢
G=_15
b+ xe

‘POYIDW Yoea 4o} uollewJoqul Suissiw ayl 913|dwo)
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YT + X% —¢
€=6- r
1€
X =
2 = v
__Z
¢—4qL
§=x v=x
¢l =X¢g
0 =xy
0¢ =8+ Xx¢
1Z=1+X¢%
4
L= —£_ ot = 8+ X¢
T+xy

suonenbz NMOA ® dn

Page 317



Maths Venns

6- = X

uolln|os e seH

iAym saw
OUIAUO0D ‘||1}
01 a|qissoduwl
SI uoigal

e UIYl NOA |

aJe uonenba ayy
ul siagquinu ||y

¢- pue ¢ cvvzzog'

suoigal

2y31 Jo yoea

ul suo|aq p|nod
1yl uonenbs
ue aleal)

wJoj} ay3 Jo sI uonnenby

Page 319



Maths Venns
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More-Same-Less — Linear Equations
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